KNN model

Linear Model

Combined Model

Best-SNP

Cross-Pop Mixed-Pop Intra-Pop
. ' , 1
1 R=0.83 R=0.87 . R=0.76 .
p=0.76 N p=0.65 . | p=0.51 K
0.5 0.5 3 0.5 s
'& + ¢
20 0 . 0 N
i bl
. o3
-0.5 1-0.5 -0.5
-1 : . : -1 : : :
-1 -0.5 0 0.5 -1 -0.5 0 0.5
Training R? Training R?
1 T T T
R=0.41 v
05 L p=0.12
I3
7]
Lot o w
-0.57
_1 L L _1 L L _1 M L s
-1 -0.5 0.5 -1 -0.5 0 0.5 -1 -0.5 0 0.5
Training R? Training R?
1
057
ot
(7]
2
-0.5 1-0.5
-1 : ‘ : 1 : : : -1 : : :
-1 -0.5 0 0.5 -1 -0.5 0 0.5 -1 -0.5 0 0.5
Training R? Training R? Training R?
1 1 1 '
R=0.21 R=0.70 R=0.48
0=0.11 0=0.40 0=0.18
0.5] 0.5 0.5
x
w0 0 0
2
-0.5 1-0.5 -0.5
-1 ' 1 ' . : -1 ' ' '
-1 -0.5 -1 -0.5 0 0.5 -1 -0.5 0 0.5
Training R? Training R? Training R?




